fAd: EXFX
M HH2IAZH(ENII D)
Sl ol ) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
LN RPN 7,462,409 16,237,625 AB,775,216
= 1,262,760
& 3,125,000
s 3,074,649
HE2LAZH (SN2 D) 127,992 120,998 6,994
ol 2d | 57,511 61,373 A 3,862
oI 244l 57,511 61,373 A 3,862
101 @124l 54,511 58,373 A 3,862
01 2=+ 54,511 58,373 A 3,862
OANZ2R4sg HHE(15Y) 13,797
— 5= 10,4863 x1H x10AI 2t +12& 1,259
— 6= 8,943& 4 H +10Al 2tx 128 4,293
—-7=2 8,078 x5 x10Al 2tx 123 4,847
— 8= 7,252 *3F *10Al 2t+ 128 2,611
— 9= 6,555 *1H «10Al 2t+ 123 787
Oz 8,078& 14 »30Al 2tx12& 40,714
203 &S =&l 3,000 3,000 0
04 FNSEH =L 3,000 3,000 0
ORN2YE gR=2 250,000 = 12& 3,000
Jl= &3l 70,481 59,625 10,856
JlE&l 70,481 59,625 10,856
201 ¢er24| 34,731 36,515 A1,784
01 At 22l 33,347 35,203 AN1,856
OLet==EHl SHN & 19,107
O=&tdl SHAH & 14,240
02 =24l 1,384 1,312 72
OAMS A LA Z Y| 1,384& %104 »100€ 1,384
202 044l 23,750 23,110 640
01 = LH o4 1l 23,750 23,110 640
O=otl 23,750
— DY 16,550
— 22 7,200
405 TtabF S| 12,000 0 12,000
01 AL EFHSHI 12,000 0 12,000
O=A2 #¢ 12,000,000& = 1CH 12,000
JIE N2 &dzt 303,765 253,255 50,510
SN & 303,765 253,255 50,510
saJg 84 300, 165 249,655 50,510
101 @124l 1,815 1,305 510
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2AM: EXrs X
st

g g Edst

el Il CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 JI2ZtHZ22HEE =+ 1,815 1,305 510
OMZH A EHZ AL 42,7803 «3H x14 1,797
OdMEE= 1,797,000& 1% 18
201 Lt 9,350 9,350 0
01 At 2t 2l 6,350 9,350 A 3,000
O e8| 6,350
—SAJIHNS 822 M=
2,000 *900F *2& 3,600
~EXNSANLLHY B4 HE
55,000 50 2,750
03 &AL Z I 3,000 0 3,000
OFXsAIY NA(EZ) 200,000& =153l 3,000
202 Oddl 4,500 4,500 0
01 = LH 4 Hi 4,500 4,500 0
SRS JYXY B L =X
60,0003 «3H x252 4,500
301 et d = 8,000 8,000 0
10 ALAHIEAZ 8,000 8,000 0
O L EXNIY BAH(SZZ)
500,000& =163l 8,000
306 ¢ 2 116,500 146,500 230,000
01 &3 116,500 146,500 /30,000
OsAllgs4dlla 116,500
307 glz2+ol & 100,000 0 100,000
08 OIXt2& = 100,000 0 100,000
Og%Esi= 0XEH 5,000,000, 000& *2% 100,000
401 AIEHI L 20 60,000 80,000 220,000
01 A& HI 60,000 80,000 220,000
OFARXINY F=HEH HUAY 30,000
OSEIEHIAHK =8¢ S3AFHAY 30,000
el =24 3,600 3,600 0
201 L2l 3,600 3,600 0
01 At 22l 2,400 2,400 0
OfidY 2LHI(ARE, MRESZES)
200,000& 128 2,400
02 2324l 1,200 1,200 0
o&llg, stlg s 100,000 »12& 1,200
NN 676,200 392,700 283,500
ENsXE4st 676,200 392,700 283,500
EXSXIALSE 676,200 392,700 283,500
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SN EXNRAD
HH: SXNRASRET
A

2 EUsIIELE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Lt 53,200 55,200 A 2,000
01 At 22l 38,200 40,200 A 2,000
Oger==8H| 31,000
— SR g8 W, g5 5) 10,000
—EUsX 22 PPT ¥ Z&4E HE 5,000
—EUsX 223 HA  5,000&+1,000% 5,000
—EUsX 88 E2450 HE
2,000& +3,000% 6,000
— U0t B250 HE
2,000& +1,0008 2,000
—GZEESs3MY 250 MH
2,000&+1,0008 2,000
—0ls8 SEXsX &8 M
200,000 53 1,000
O & XXM nE Sl
7,0003 «4H +50 1,400
O=&d 01dJIY ENRINES S
7,000 4 100 2,800
OJlga:2o0gs+2 3,000, 000 1Al 3,000
03 &AL2 I 15,000 15,000 0
OFXRX £F3 15,000
202 Odl 9,600 9,600 0
01 = LH 4 Hi 9,600 9,600 0
O=&d 0ldIg EXNRI &3
0,000& «2H +20 2,400
O4 &F B3 1Y "XES
60,0003 «3H x40 7,200
203 ¥ S =&l 25,000 15,000 10,000
03 AIZ=XH 2 =AH| 25,000 15,000 10,000
OJIEXNRI d2FH S 25,000
301 et a = 13,400 12,400 1,000
10 AtAHIE A3 11,000 10,000 1,000
OSXRA S0 L 83 FH2Y
5,000,000& »23| 10,000
O=JtgAtd et Nt st A S X & H 3 1,000
12JIE243 2,400 2,400 0
OSENRI AANSH +2 U BSH|
200,000& x1H =123 2,400
401 AIEHI L 2] 50,000 100,000 A 50,000
01 A& HI 50,000 100,000 A50,000
OEXNRXINYG JIEtAIE K& A 50,000
402 2I2H X201 M 525,000 0 525,000
01 RIZEAt=2E X 525,000 0 525,000
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2N

Ha: SNRIBHEA
e EXNRXNEALS (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OXNEEXINLXNE(AIE, dXNEEXZ) 250,000
OdREN DI282Xx23 25,000
OsAJY &HHEXZ 25,000
Ol ¢ nssdeExz 25,000
o&IIea B8X3 100,000
OJIXN| (83, =5 L oz, MEHH S
) 100,000
MASX XM 3,794,840 12,098,300 N 8,303,460
= 500,000
2 3,125,000
o 169,840
Falea = T e e D 3,794,840 12,098,300 N 8,303,460
= 500,000
2 3,125,000
= 169,840
QU BEAFCHAR A AFS 169,840 71,300 98,540
201 LBt | 117,200 8,600 108,600
01 AP 22| d| 5,700 7,900 A2,200
Ogbt4=24| 5,000
—J2dIMNPEE & APEH SEFYH 2,000
— MAUCTANEZEAE S ZD2(L2HXA, X
X) 1,500,000 23] 3,000
OS] ZEHL =& 22|
7,000 x2H x50 700
02 2224 H| 111,500 700 110,800
OA&E &Y |A2a 100,000
— HOFAFE H =Xl & 100,000
Orspl= 11,500
— fOtALEE D2 S 10,0002 *750S 7,500
— HOFAFE HE=XHel & 500,000 x801 & 4,000
202 044 2,640 2,700 A 60
01 2L I 2,640 2,700 A 60
OfHE R AR =X 60,0003 3 x8L 1,440
Ot 2t SAEH gFRE 2
60,0003 x2H 10 1,200
401 AlEHI 22 ThYI 50,000 50,000 0
01 Al&H| 50,000 50,000 0
O Hotate =8OS AYE== | 50,000
HOHAQIEIR BYE4+E HXIAEY 3,125,000 2,240,000 885,000
2 3,125,000
401 AlEHIZL 2 0HY| 3,125,000 2,240,000 885,000
2 3,125,000
01 Al&H| 3,066,720 2,024,320 1,042,400
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fAM: EXNFXID
M MG XY
Sl MY Y SBEX XM (S &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OUOtate BHE+=E AX ALY 3,066,720
= 3,066,720
02 Zeltl 50,000 200,000 A 150,000
OUDHAtE SHE=T EXIALS 50,000
& 50,000
03 Al S THHI 8,280 15,680 AT7,400
OUDtatE SHE+=Z EXIAE 8,280
= 8,280
=N H=ZLHIAE EXNA 500,000 0 500,000
= 500,000
401 AIEHI L 201 500,000 0 500,000
= 500,000
01 A& HI 452,800 0 452,800
OFAMH=ZY MelAld XA 452,800
= 452,800
02 2feldl 45,000 0 45,000
OZAMH=BY ™MelAld dXAS 45,000
= 45,000
03 Al S THHI 2,200 0 2,200
OZAMH=ZY MelAld XA 2,200
= 2,200
dag =4 20,550 23,050 A 2,500
FSl= Rl geel 20,550 23,050 A 2,500
SE AP 20,550 23,050 A 2,500
201 LEr2A | 14,550 17,050 A 2,500
01 Ar2 22l bl 9,550 12,050 A 2,500
Oger==EH| 9,550
—&IIASX SEANEAE Jlgt2s 204
g2t 3,000
— NN AKX FR=& I &2t
750,000& *23] 1,500
—24E FRS2AMY AF B 22
20,000& » 150 3,000
— MY P2 FA ARES 7Y 1,000
—HIINSA 2dAH FF YRFA SEH
7,000 *2H x752 1,050
03 #AL2EHI 5,000 5,000 0
O&EIIX SR &h &3l & IHdl
5,000,000& 13l 5,000
202 044l 6,000 6,000 0
01 SLHOIYI 6,000 6,000 0
O&JIINEsX EHAH 25 g2FA
60,000 *2H 252 3,000
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SN EXR XD
X ZH -
L= B
el

SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
OSHEH Test-Bed 2 YR
60,0003 »2H 25 3,000
MO XS X A S 2,466,954 1,102,000 1,364,954
= 762,760
= 1,704,194
IS A B4 2,466,954 1,102,000 1,364,954
= 762,760
= 1,704,194
HIOINsSKH B2(BEX) 1,642,000 1,102,000 540,000
= 762,760
= 879,240
1 A& 8 20| 400,000 352,000 48,000
= 400,000
01 Al&H| 397,140 326,660 70,480
O&IIXNSK NI RS AMY 397,140
= 397,140
03 A& £ 0HH] 2,860 25,340 N 22,480
O&MIIXNSX sSHEZL 2 AMLY
397,140,000 *0.72% 2,860
= 2,860
405 XHo&HF S HI 1,242,000 330,000 912,000
= 362,760
iy 879,240
01 AL 2B F SHI 1,242,000 330,000 912,000
O&IXNSX ESAMY 1,242,000
= 362,760
= 879,240
MO XS ES (XA 24,954 0 24,954
201 LBt A H| 24,954 0 24,954
01 At 22l ] 1,161 0 1,161
ONIKSK SHI| AHEEHAA =2
96,690& * 1204 & 1,161
02 352494l 23,793 0 23,793
ONIIXSK SIAH A28 2dlls &L O
G, ITAHI0lEs 565,000& x 1201 & 6,780
OFIIKNESA KAXIINBEAHIA SAR2
237,600 x 1201 & 2,852
ONIXSK SEAA AHURZ
30,000& =120 & 360
O&IN XS K A= XA 95,000& =3CH 285
O&IIXsx B8€& 450,000 *3CH 1,350
OFIXNSA EHI| PEHSN(RY) 22
7,700& *440| x 1200 & 4,066
OMIIXSX s&8A JILS 8,100
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fAM: EXNFXID
M IS &S
@ MISK |4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—2AEFTHEL HIIRS
45,0003 *3M & =120 & 1,620
—=538AL Ml
30,0003 *18H 2+ 1200 & 6,480
SIS SNSRI A 800,000 0 800,000
401 A& HIZ 201 Y| 800,000 0 800,000
01 A& HI 800,000 0 800,000
OIS MIUER EXI0HHI 800,000
Hees(EXANsA D) 72,108 2,247,322 A2,175,214
WEHHX = 72,108 2,247,322 A2,175,214
SEE3H dES 72,108 247,322 A175,214
701 JIEtSI AN ES 72,108 247,322 A175,214
01 JIEteI HE == 72,108 247,322 A175,214
Os3X7 A 72,108
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